SPARE PARTS V4 FLEXL'NK®

a coesia company

Chain cleaning module for wet cleaning with drying function

o = e = ——— / ‘;' y-b L"
'7. — 2 ‘ . —"- - = & ﬂ ﬁ,~" y

Conveyor system Chain cleaning module
[tem No.

XS 8042679

XL 8042663

XLX 8042664

X65 8044104

X85 8042665

X85X 8042666

XH 8042667

XK 8042668

FlexLink 5742EN-3 1



Spare parts — Conveyor systems XS, XL, XLX, X65, X85, X85X, XH, XK

Chain cleaning module for wet cleaning with drying function

ltem Descriptions | Item No. Qty Comments RS
1 Brushes 8044716 1
2 Brushes 8044717 1
3 Bearings DIN 625- 6204-2RS-A2 1
4 Bearings DIN 625- 6205-2RS-A2 1
&) Bearings DIN 625- 608-2RS1-A2 1
6 Lip seal ISO 6194/1- 25x52 7
7 Air nozzle 8044713 1
8 Air nozzle 8044714 1
9 Timing belt 8044711 1
10 Water nozzle 8044715 1
RS- Recommended spare parts to have in stock
2 5742EN-3 FlexLink



Spare parts — Conveyor systems XS, XL, XLX, X65, X85, X85X, XH, XK

Chain cleaning module for wet cleaning

Conveyor system Chain cleaning module
[tem No.
XS 8044023
XL 8044024
XLX 8044025
X65 8044105
X85 8044026
X85X 8044027
XH 8044029
XK 8044028

FlexLink 5742EN-3 3



Chain cleaning module for wet cleaning

[tem Descriptions | Item No. Qty Comments RS
1 Brushes 8044716 1
2 Brushes 8044717 1
3 Bearings DIN 625- 6204-2RS-A2 1
4 Bearings DIN 625- 6205-2RS-A2 1
5 Bearings DIN 625- 608-2RS1-A2 1
6 Lip seal IS0 6194/1- 25x52 7
9 Timing belt 8044712 1
10 Water nozzle 8044715 1

RS- Recommended spare parts to have in stock

info@flexlink.com FLEXLINK®

flexlink.com

a coesia company

5742EN-3 ©FlexLink 2015



